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1. Use the graph to state the roots of each equation.

a) Yy =28+ 10 b)

9 = (2 =64 +9

2. Explain which properties dictate the
number of x-intercepts for each of the J
following. Then, sketch a sample of each 34
type of graph on the same set of axes.

a) two distinct real roots

¥ b-4ac>0

b) one real root

I b~4oc=0

¢) no real roots

If P-4ac<o




[image: image2.png]3. Graph the following. From your graph, state the roots to the nearest tenth.
a) y = x>~ 10x + 20 b) y=05x-11-3
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[image: image5.png]3. Graph the following. From your graph, state the roots to the nearest tenth.
a) y = x>~ 10x + 20 b) y=05x-11-3
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[image: image7.jpg]4. Factor each of the following completely.

a) (a + 5)2 —49(b - 9) b) (x—6) + 10(x—6) + 9
Yt 1[:! A A
Ao = (A +70)(4-10) =A>+10449
=(a+5 +Tb=63)(a+5-Th +63) = (at1)(419)

= (x-6+1)(x-6t9)

- Sl il s s o R ooy

)9%2 100n2 = (3m> (l

=(3Tm IOV\>(3W)+'3OV) |

5. Solve each of the following equations by factoring. Verify your answers.

a) ¥*+6x+8=0 B 3¥-x+2=0
(X +2) ®¥4)=0 (3x + NE—2)=0
X+2=0 , X+4=0 AL =0, Kreg
¥== ,X==¢ = e
¢) 4 +27=x d) 36x*-81 = 4
AX 24 % +27=0 ey —(@)=o
(2% —3)(x-9) =0 (6x-)(bxt+3)=0
fed o we2l 6%-9=0 , 6X¥1=0
e X:g-=3 > X:ﬁ_=—3




[image: image8.jpg]6. One side of an envelope is 3 inches longer than the other side. The area of the envelope is
108 in.2. Determine the dimensions of the envelope. (Sketch a diagram to help you with

your solution.) 3+x

A= 10§ = XC3TX) =3+ Xx*
0= X+ 3x—10% x
0 =h-TUx+12)
X=q o 1D vejest!
Ans: %= %in and the ofher Side s |2 in

7. Solve each of the following. State your answers as exact values.
a) |x? = 169 b) (x+ 72 =121

TR el
X=4 o X=-[%
¢ (x—1272=80 d) Bx+ 12 =-48
= 3

3 -
Y — |2 =480 = 14J5 (x+0)= 16
¥=1214J5 | Kl =x4

xSl 8 Bl e Y|

8. Solve each of the following by completing the square. State your answers as exact values
and as approximations to the nearest tenth.

a) X +8x=7
(X%B X +16d= T+lb
(3 99% = =as

¥td = L

008 %
Xe 4t Jmy —
—8|%=X1




[image: image9.jpg]b) 2x2—20x + 14=0

%Cx‘—no X +25) = £

o 2 = -7 +25 = (¢ X=513\)—§_
(Y 5) / XJ
ol A %e 22 % =08

9. The profit, p, earned from the sale of a particular product by a business is given by
p(d) = —0.25d* + 5d + 80, where d is the number of days the product has been for sale.
Solve this equation by completing the square to determine the last day on which the product
will be profitable.

; )

(O - -O.Zfd::f'Sd +30)-4— _/—>/5 make /1 easiet
0 = =/ d*F Qo0d + 320

— - 2 0

/004 ~320 -%(L(d—zod +100)

o ~10 =+ 2049

2z
420 = (d /o) d~o =21 20
30
d 230 JA)’;. thae [ast lny. d x/o*;zo/'
L \) oy
reject !
10. Use the discmmt to decide the nature of the roots for 'D - b’-_ 4qac
o = Whatis the discriminant?
a) 2x° +5x=38 Wt =t 108 A an i eilve?
245X -8 =0 W-X-12=0
25 - 4((8) = 89 CEOZ4MERY = 49
Two vea| distnct vool. 4wo  Yeal dvstind yodfs.
c)RL6X2 49 =—56x% d) Ixi="5x—2
X+ X 44920 TX=3x +2=0
56 = a(ib) (8) =0 q-4 ()= —47

| veal yoot . No veal voofs.




[image: image10.jpg]11. Use the quadratic formula to solve each of the following. State your answers as
exact values and as approximations to the nearest tenth.

a) x2+ 10 =10x b)iSx* =38 2%
XZ10x +10 =0 5K 42x—9 =0
Wi 102 J100—40 X= _21J‘mg’6'
a2
o WZalim —2iaj_ T
= /0 5
X= 515
><|= /‘/ ; Xzz ’/|5
e L e e
12. Solve each of the following using an algebraic method. Explain your choice of method.
a) ¥ +4x=21 = e
) X2+ X 44X —2|=0 X=32 , X=-1
(X=3)(+7)"0
FN,TMU i Ho easiest wethod .
By sx* —18x—6=0 e
(sx+D(x — 3)=0 ol e

F@r;'ﬂ s e easiet nhd

¢) 222 +9x=-3 2)(2-*%(1» 3=0
Not fochoble . %= 94 3—!— 2k
wadrafic fer\mh - S9J5T
witt be Yo essiect o G o
V"\.c(']\p‘l ®

X=2036 5 S ik





